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Elcaywyn ..

. To B€pa aUTAC TNC TTUXLAKNAG €pyaoiac elvol n avamtuén HLog
OIKTUAKNCG EKTTALOEVTIKNG TIAATPOPLAC, UE OKOTIO TNV TIPOETOLUOCLAL
nabntwv ywa tnv motornoinon tng Cisco CCNA Routing and
Switching.

J H exkmaibevon twv pabntwv ylo tnv s€€taon Ba yivete pEOW
EPWTNOEWV TIOANATIANC €TLAOYNC, MEOW TNC TAATHOPUOC N oTold
EXEL TN HopdN SladlkTuaKkNne edpappoync Kol eival mtpooBaoiun amo
evav anAo puAlopetpnth.
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Elcaywyn ..

J O epwtnoslc tnc e€€taonc €xouv mapBel amd 1O UAIKO TOU
nipoteivel n Cisco yia tnv e€etaon CCNA Routing and Switching.

. M tnv dnuovpyia tng mAatdopuac ATAV AmapaitnTn N AVATTUEn
dV0 epapuoywy, EVOC eEUMNPETNTN Kal piag Stemadnc xpnotn.




EoyaAeia TNG TTAATPOPUAC ..

Aientadn Xpnotn

Angular 6
= Framework avolxtot kwdika yla Tnv avamtuén SLadIkTuakwy ebappoywy.
= Eivow ypappévo oe TypeScript.

Bootstrap
= HTML kat CSS framework yia eukoAdtepn avamntuén SLadiktuakwy epapUoywy

= MeplhapPavel Etolpa tpotuma oxediaong yia tunoypadia, MVAKES, KOUUTILA.

ngBootstrap
Q = Eldkn €kboon yla Angular mou mepthapfavel Aettoupyieg mou dev umtootnpilovral

armo tnv anAn Bootstrap, onwc: drop-Aioteg, progress-bars, modal.




EoyaAeia TNG TTAATPOPUAC ..

E§untnpetntig

Node.js
= MeptBaAAov ektéleonc JavaScript kwdika.

= XTlopévo navw otnv V8 JavaScript pnxavr) tov Chrome.

Express.js
= Framework tn¢ mAatdopuac Node.js
= XpNOLUOTIOLELTOL YLO TNV AVATTTUEN uTtnPEoLwV SIKTUOU Kal eivatl ypappévo oe JavaScript.

Mongoose
= BiBALoOAKN povtelomnoinong dedopevwy avtikelpevwy (ODM), yia to Node.js

= Bpioketal avapeoa oto Node.js kat otn Baon dedopuevwv MongoDB.




EoyaAeia TNG TTAATPOPUAGC ..

Baon 6edopévwv MongoDB

MONGO SQL

= H MongoDB eivat pta NoSQL paon
’ ’ ’ ’ PEOPLE PERSON
debopévwy avolytol Kwolka, UE KUPLO e |

APAKTNPLOTIKO TO  OTL OLUOTIOLEL S 5 1| et | et o
o “FirstName": "Ada", :
X p rlp ’ Xpn ’ IJ. Ié?ns;wam:dalt‘:r:alzce%gmallcom — 1 Ada Lovelace ada.lovelace@gmail.com
Document based povteho dedopevwy.  hhene [ o
- "Home": "+1.123.456.7890" : )
: ) : 2 Grace Hopper grace hopper@gmail.com
7 )] ) ) “Work?: *+1.111.222.3333" 3 Kathy Sierra kathy.sierra@gmail.com
"= Jtnv mepimtwon avutn, ta odedopeva o
) , . e
anoOnkevovtal oe popdny BSON, Binary |
JSON (JavaScript Object Notation). | Frsane: e, PHONE_NUMBER
"E?ns.:\il'ir":.:ra;ce.zssser’@gmail.com"
. = N Type
= Y& avtiBeon pe pia MySQL Baon &ev | ) +1.123.456.7650
. , ' , o :
EXOUHE TIWVOKEG, UUV\EC Kal YPOAMUMUEQ E’E‘Eﬂi’”mié.iﬁi : 1 2 +1.111.222.3333 Work
: "Email”: "kathy.sierra@gmail.com” .

aAAd, cUANOVEC, eyypadéc kot Tedia. Y




AEITOLPYIEC TNC TTAATPOPUAC

[TA TON KA@HIHTH [NIA TOYL MAOHTEL

J MNivakoag EAEyxou J M'padikd meptPaAlov yla tnv e€€taon.

= Emhoyn Epwtnoswv — Xpovou E¢Etao , . .
v ERLT P : A J Aemttopepn amoteAéopata Tne e€ETAONG TOUG

= MpoBoArn ATOTEAECUATWY OAWV TWV

Hoontwv
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Nivakag EAEYXOL

Metworking

Academy
Selected Questions(S) [E) B [ - - | 00:02:06 Results(S)E
= Question AEM Correct Questions SCORE Date
4 Which 05! layer header the add of a desti host that is on another network? 1234 4 5 80% Oct 16, 2018, 20:23:16
(Choose:1)
2 Which layer of the TCP/IP stack combines the 051 model physical and data link layers? 4567 1 5 20% Oct 16, 2018, 20:23:30
(Choose:1)
7854 2 5 40% Oct 16, 2018, 20:23:52
3 Which protocol uses a connection-criented service to deliver files between end systems?
(Choose:1) 5785 ] 5 100% Oct 16, 2018, 20:24:11
If the hubs in the graphic were replaced by switches, what would be virtually eliminated?
S (Choose:1) 878 o 5 0% Oct 16, 2018, 20:24:25
5 If host A sends an IP packet to host B, what will the source physical address be in the frame
when it reaches host B? (Choose:1) Class Average 48%
Time: 5 min
About
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EmAoyn epWOTNOEWDV -

Available Questions(32) FIP Data Networks

All toples

Topic: Operation of IP Data Networks Operation of IP Data Networks
LAN Switching Technologies
9)  Which network device functions only at Layer 1oft  |P addressing (IPvd / IPv6) ’

IP Routing Technologies
The host in Kiev sends a request for an HTML docu

10)  What will be the source IP address of the packet ag

IP Services ’
(Choose:1) Network Device Security

Troubleshooting
As packets travel from Mary to Robert, which three uevives win vos e
11) destination MAC address of the packet to determine a forwarding path?
(Choose:3)

Mary is sending an instant message to Robert. The message will be broken into a

12) series of packets that will traverse all network devices. What addresses will
populate these packets as they are forwarded from Router to Router2?
(Choose:1)
A network device needs to be installed in the place of the icon labeled Network

13) Device to accommodate a leased line attachment to the Internet. Which network
device and interface configuration meets the minimum requirements for this
installation? (Choose:1)

v Which rt layer pi | provides best-effort delivery service with no ™~

Open ICND Part 1 Docurnent

About

3)

5)

8)

Networking

Selected Questions(7) | feset

Which three statements are true about the operation of a full-duplex Ethernet
network?

‘Which 0SI layer header contains the address of a destination host that is on another
network?

Which layer of the TCP/IP stack combines the 0S| model physical and data link
layers?

Which p | uses a v d service to deliver files between end
systems?

if the hubs in the grephic were replaced by switches, what would be virtually
eliminated?

If host A sends an IP packet to host B, what will the source physical address be in the
frame when it reaches host B?

HostX is transferring a file to the FTP server. Point A represents the frame as it goes
toward the Toronto router. What will the Layer 2 destination address be at this point?
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5) - Which protocol uses a connection-oriented service to deliver files betweenend %
systems?

d

L Choices

A) TFTP
B) DNS
c) FTP
D) SNMP

E) RIP

Description

TCP is an example of a connection-oriented protocol. It requires a logical connection to be established
between the two processes before data is exchanged. The connection must be maintained during the entire
time that communication is taking place, then released afterwards. The process is much like a telephone
call, where a virtual circuit is established-the caller must know the person’s telephone number and the
phone must be answered-before the message can be delivered. TCP/IP is also a connection-oriented
transport with orderly release. With orderly release, any data remaining in the buffer is sent before the
connection is terminated. The release is accomplished in a three-way handshake between client and server
processes. The connection-oriented protocals in the 0S| protocol suite, on the other hand, do not support
orderly release. Applications perform any handshake necessary for ensuring orderly release. Examples of
services that use connection-oriented transport services are telnet, rlogin, and ftp

Add To Test Close
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Mpiv v £§i:TC|o |

Networking

Academy

ICND Part 1
ApLBUOE EpWTROEWY: 20
Xpovog: 30 Aentd

MPOZOXH! Te mepinTwaon emAoyrig Tou kovpmmobd “Micw" and Tov
puALopETPNTA KaTd TN Sudpkela TN e§éTaonc, Ba emOTpEPETE OE
auTrv TV ceAida kat 8a mpénet va enavahafete Ty e§ETaon.

AEM

About

12
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Kara tnv e€eraon

5) - If host A sends an IP packet to host B, what will the source physical address be in the frame when it reaches
host B? (Choose 1)

Image 1

10.168.10.129 /126
10.168.10.130 126

IP: 10.168.10.65 126
MAC: B2:B2:B2:B2:B2:B2
IP: 10.168.11.65 /26
MAC: C3:C3:C3:C3:C3:C3
3
IP: 10.168.10.99 126
MAC: Al:Al:Al1:A1:A1:41

[ |
IP: 10.168.11.88 26
MAC: D4:D4:D4:D4:D4:D4

A)10.168.10.99

B) 10.168.11.88

C) AT:AT:AT:AT:AT:AT

D) B2:B2:B2:B2:82:B2

E) E3:E3:E2:C3:C3:C3

F) D4:D4:D4:D4:D4:D4

00:23:18

13
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AtroTeAéopara

About

o O

X 0 0 x

x

Andvtnoeg owotd o 5 anoé Tig 10 EpWTACELS
SCORE: 50%

1) - Which 0S| layer header contains the address of a destination host that is on another network?

2) - Which layer of the TCP/IP stack combines the 0S| model physical and data link layers?

3) - Which protocol uses a connection-oriented service to deliver files between end systems?

4) - If the hubs in the graphic were replaced by switches, what would be virtually eliminated?

5) - If host A sends an IP packet to host B, what will the source physical address be in the frame when it reaches host B?

6) - HostX is transferring a file to the FTP server. Point A represents the frame as it goes toward the Toronto router. What will the Layer 2
destination address be at this point?

7) - Which network device functions only at Layer 1 of the 0SI model?

8) - The host in Kiev sends a request for an HTML document to the server in Minsk. What will be the source IP address of the packet as it

leaves the Kiev router?

9) - As packets travel from Mary to Robert, which three devices will use the destination MAC address of the packet to determine a forwarding
path?

Networking
Academy

14




AmroteAeouara

3) - Which protocol uses a connection-oriented service to deliver files between end %
systems?

I5I6TnT£g Choices

A) TFTP

D B) DNS

c) FTP
D) SNMP
< E) RIP

Description

TCP is an example of a connection-oriented protocol. It requires a logical connection to be established
between the two processes before data is exchanged. The connection must be maintained during the entire

D time that communication is taking place, then released afterwards. The process is much like a telephone
call, where a virtual circuit is established-the caller must know the person’s telephone number and the
phone must be answered--before the message can be delivered. TCP/IP is alse a connection-oriented
transport with orderly release. orderly release, any data remaining in the buffer is sent before the
connection is terminated. The release is accomplished in a three-way handshake between client and server
processes. The connection-oriented protocols in the 08I protocol suite, on the other hand, do not support
orderly release. Applications perform any handshake necessary for ensuring orderly release. Examples of
services that use connection-oriented transport services are telnet, rlogin, and ftp




YOUTTEOQAOPATA

»H epyaoia autn Bo amoteAECEL EVOL CNUAVTLKO EPYOAELD
yLa Tov S16a0Kwv, LECO TOU oTtolov Ba pmopel va
aéLOAOYNOEL TLC YVWOELCG, AAAA KOl TNV ETOLHOTNTA TWV
nadntwv.

»>EXEL TIC PAOELC yLOL VAL VIVEL piot TANPNC EEETALOTLKN
nAaTtdopua HECW TNC omolag kabnynteg Ba pmopouv va
dnuloupyolVv e€etaoelC Kol tpoodouc yia dtadopa
naOnuotoa kat Bepata.

T
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